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.37 ; 10162.50 tr/min
.37 ; 10143.75 tr/min
.37 ; 10143.75 tr/min
.37 ; 10200.00 tr/min
.37 ; 10143.75 tr/min
.37 ; 10143.75 tr/min
.37 ; 10200.00 tr/min
.37 ; 10143.75 tr/min
.37 ; 10125.00 tr/min
.37 ; 10200.00 tr/min
.37 ; 10162.50 tr/min
.37 ; 10162.50 tr/min
.37 ; 10200.00 tr/min
.37 ; 10143.75 tr/min
.37 ; 10162.50 tr/min

void loop () {

dt = millis() - t;
if (dt >= 200) {
T =dt / imp ;

N =60.0 / (T * 16.0 / 1000.0);
noInterrupts();

imp = 0;

t = millis();

interrupts();

Serial.print (T);

Serial.print(" ; ");
Serial.print (N);

Serial.println(" tr/min");

} .37 ; 10218.75 tr/min
} .37 ; 10162.50 tr/min
.37 ; 10200.00 tr/min
void inter() { .37 ; 10181.25 tr/min
imp = imp + 1; .37 ; 10256.25 tr/min

}

.37 ; 10143.75 tr/min
10200.00 tr/min
10237.50 tr/min
10162.50 tr/min
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Le crogquis utilise 3974

Les variables globales utilisent
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